PHYSICS

BOOKS - MBD NCERT SOLUTIONS

THE HUMAN EYE AND COLOURFUL
WORLD

Multiple Choice Questions

1.Retina is called :


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_joACo2DJJz6w

A. blind spot of eye

B. dark spot of eye

C. screen of eye

D. transparent part of eye

Answer: C

o Watch Video Solution

2. Power of a lens is + 5 D, its focal length is :

A.20m


https://dl.doubtnut.com/l/_joACo2DJJz6w
https://dl.doubtnut.com/l/_jkjrjayBMe2y

B.2m

C.0.2m

D. none of these

Answer: C

o Watch Video Solution

3. Most insensitive part of the eye is called :

A. blind spot

B. Eye lens


https://dl.doubtnut.com/l/_jkjrjayBMe2y
https://dl.doubtnut.com/l/_ueubbUIazzwR

C. cornea

D. Ciliary Muscles

Answer: A

° Watch Video Solution

4. Focal length of the eye lens can be adjusted

by action of :

A. ciliary muscles

B. choroid


https://dl.doubtnut.com/l/_ueubbUIazzwR
https://dl.doubtnut.com/l/_YTc6E4Tdlozm

C. optical nerves

D. retina

Answer: A

° Watch Video Solution

5. The reddening of the sum at sunrise is due

to:

A. Accomodation

B. Scattering


https://dl.doubtnut.com/l/_YTc6E4Tdlozm
https://dl.doubtnut.com/l/_OF5P8d0kllpM

C. Dispersion

D. Reflection

Answer: B

° Watch Video Solution

6. What is the formula for power of a lens ?
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https://dl.doubtnut.com/l/_OF5P8d0kllpM
https://dl.doubtnut.com/l/_8mBWc5ewKe50

| <

Answer: A

o Watch Video Solution

7. The colour of white light which is deviated
the maximum on passing through the glass

prismiis :

A. red

B. green


https://dl.doubtnut.com/l/_8mBWc5ewKe50
https://dl.doubtnut.com/l/_TBkH3zjxfBBq

C. violet

D. blue

Answer: C

° Watch Video Solution

8. Splitting of white light into seven colours is

called :

A. Reflection

B. Refraction


https://dl.doubtnut.com/l/_TBkH3zjxfBBq
https://dl.doubtnut.com/l/_UXhTt9QfHzlE

C. Dispersion

D. None

Answer: C

° Watch Video Solution

9. What are that number of primary colours ?

Al

B.2

C.3


https://dl.doubtnut.com/l/_UXhTt9QfHzlE
https://dl.doubtnut.com/l/_VcFPzkpL6tRt

D.4

Answer: C

o Watch Video Solution

10. Which of the following is the colour of

danger ?

A. Red

B. White

C. Green


https://dl.doubtnut.com/l/_VcFPzkpL6tRt
https://dl.doubtnut.com/l/_JREE3hwMTOEr

D. Blue

Answer: A

o Watch Video Solution

11. Where is the image formed in a human eye

?

A. Cornea

B. Iris

C. Pupil


https://dl.doubtnut.com/l/_JREE3hwMTOEr
https://dl.doubtnut.com/l/_0PsDCy4kMyxU

D. Retina

Answer: D

o Watch Video Solution

12. Colour of the sky is blue due to

A. Reflection

B. Refraction

C. Scattering

D. Dispersion


https://dl.doubtnut.com/l/_0PsDCy4kMyxU
https://dl.doubtnut.com/l/_WlVyOIc7DhMh

Answer: C

o Watch Video Solution

13. The blue colour of sky is due to :

A. Reflection of light

B. Scattering of light

C. Dispersion of light

D. Refraction of light

Answer: B


https://dl.doubtnut.com/l/_WlVyOIc7DhMh
https://dl.doubtnut.com/l/_tIDrmr6fQEWx

° Watch Video Solution

14. The red colour of the sun at the time of

sunrise and sunset is because:

A. Scattering

B. Dispersion

C. Refraction

D. Reflection

Answer: A

| 8 l


https://dl.doubtnut.com/l/_tIDrmr6fQEWx
https://dl.doubtnut.com/l/_pos4cyYgUQ2Z

15. The human eye forms the image of an

object at its

A. Cornea

B. Retina

C. lIris

D. Pupil

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pos4cyYgUQ2Z
https://dl.doubtnut.com/l/_57807LwpIZMX

16. The main reason behind the advanced

sunrise and delayed sunset is

Choose from the given options

A. Reflection

B. Refraction

C. Deviation

D. Scattering

Answer: D

of light .

[ o Watch Video Solution


https://dl.doubtnut.com/l/_57807LwpIZMX
https://dl.doubtnut.com/l/_wcc4ewsQC9gs

Very Short Answer Type Questions

1. Where is the image formed in a human eye ?

o Watch Video Solution

2. Write the nature of the image formed at the

retina. How do we see the object upright ?

o Watch Video Solution



https://dl.doubtnut.com/l/_wcc4ewsQC9gs
https://dl.doubtnut.com/l/_WjggMWiHeSZm
https://dl.doubtnut.com/l/_PLtmmrVug2Qj

3. What type of image is produced by the

cornea and the lens on the retina?

o Watch Video Solution

4. What kind of lens is used by a myopic

person ? Explain with a diagram.

o Watch Video Solution



https://dl.doubtnut.com/l/_DUzYhMYPGlxo
https://dl.doubtnut.com/l/_3BfSd4tr3W4d

5. How is hypermetropia corrected ? It is likely

to occur in which age?

° Watch Video Solution

6. What colour of sky is seen from the surface
of moon ? Give reasons to support your

answer

° Watch Video Solution



https://dl.doubtnut.com/l/_AFya0KeeBVnK
https://dl.doubtnut.com/l/_qBaVoimm8nLv

7. What is the function of the iris in human

eye?

° Watch Video Solution

8. Name the phenomenon of Ilight s
responsible for twinkling of stars. Why does it

not cause planets to twinkle as well?

° Watch Video Solution



https://dl.doubtnut.com/l/_54TbK2bEFk1B
https://dl.doubtnut.com/l/_LP9lcwhYS84t

9.The prism spit the incident white light into a

band of colours. Write these colours name in

sequence.

o Watch Video Solution

Short Answer Type Questions

1. What is meant by

accommodation of the eye ?

the

power

of

o Watch Video Solution



https://dl.doubtnut.com/l/_7dvCTXeOdWs3
https://dl.doubtnut.com/l/_fBN1xBbEidtc

2. What are the far point and near point of the

human eye with normal vision ?

° Watch Video Solution

3. Why is normal eye not able to see clearly the

objects placed closer than 25 cm ?

o Watch Video Solution



https://dl.doubtnut.com/l/_fBN1xBbEidtc
https://dl.doubtnut.com/l/_Hpax32ysznnP
https://dl.doubtnut.com/l/_3GSGZadE3KOV

4. Why do stars twinkle?

o Watch Video Solution

5. With a neat labelled diagram, explain
twinkling of a star. Also explain why a planet

does not twinkle.

o Watch Video Solution



https://dl.doubtnut.com/l/_zrOs8wD6Vmee
https://dl.doubtnut.com/l/_ioYmBQycXP28

6. Why does the sun appear reddish in the

morning , as well as in evening ?

o Watch Video Solution

7. Why does the sky appear dark instead of

blue to an astronaut ?

o Watch Video Solution



https://dl.doubtnut.com/l/_TksFytcjxyXK
https://dl.doubtnut.com/l/_O7vmCyubpaTk

8. What part of the eye can be donated after

death ?

o Watch Video Solution

9. Why we see a rainbow just after rains?
Explain the phenomenon as well with a

diagram

o Watch Video Solution



https://dl.doubtnut.com/l/_iAw0IRIMepvr
https://dl.doubtnut.com/l/_ihYhggX7Buy9

10. Why do you is the colour of sky blue and

not black as in case of the moon?

° Watch Video Solution

11. It should be easy to see objects which are
close to our eyes. But we find it difficult to see
objects that are too close to the eye. How can

you explain this phenomenon?

o Watch Video Solution



https://dl.doubtnut.com/l/_G9dSYAGXv3og
https://dl.doubtnut.com/l/_CS8WcIBoWyoC
https://dl.doubtnut.com/l/_DWULYRnmLjD6

12. What is colour-blindness ?

o Watch Video Solution

13. What is eye donation ?Why is it very

important ?

o Watch Video Solution

Long Answer Type Questions


https://dl.doubtnut.com/l/_DWULYRnmLjD6
https://dl.doubtnut.com/l/_bgAHS9tLwGwZ

1. Write the help of a well labelled diagram,
explain the construction and working of the

human eye.

o Watch Video Solution

2. A person is not able to see for off objects
clearly. From which defect of the eye the
person is suffering ? How to correct this

defect ?

° Watch Video Solution



https://dl.doubtnut.com/l/_AR0bpkEMpUQ6
https://dl.doubtnut.com/l/_xxr3y8fVNHSh

3.(a) Draw a diagram to show the formation of
image of a distant object by a myopic eye. How
can such an eye defect be remedied ?

(b) State two reasons due to which this eye
defect may be caused.

( ¢) A person with myopic eye cannot see
objects beyond a distance of 1.5m. What
would be the power of the corrective lens

used to restore proper vision ?

o Watch Video Solution



https://dl.doubtnut.com/l/_xxr3y8fVNHSh
https://dl.doubtnut.com/l/_affkRxSRTrCW
https://dl.doubtnut.com/l/_2mOJm0Le3Qne

4. A man can read the number of a distant bus
clearly but he finds difficulty in reading a book.
(@) From which defect of the eye is he
suffering ?

(b) What type of spectacle lens should he use

to correct the defect ?

o Watch Video Solution



https://dl.doubtnut.com/l/_2mOJm0Le3Qne

